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8 8 3%F 1(60g/H)B5IEIL 1(50ml/}E)
S K 2(131/38)
EEHFF FITZmEEEE K 50(8)
T 3K 5(1.5kg/8)
B3 33K 5(1.5kg/8)
E=EE 53K 2(1kg/B).E3% 2(1.8kg/E)
s i SnE 24(8).29/3 10(2). B 26(/)
EIE gt 20(2)

B 2(8).BBINE 6(X) BT E 13().

(5 SEE 3(40). 2% 3(18).Em 3(1F).




S5 EH](467) E3R2(3kg/ )
ETES 88 3(7)
SEM(232) E3k2(3kg/ )
22735 (206) B3£2(3kg/ )
B K 2(131/K)
BEBTERFEAROARAD | 2RKER 23(8)
332 (397) F3k4(3kg/ )
g/t Ae# 20(8)

BiZ1E (534) E3%2(3kg/8)
831 (578) F316(3kg/8)
H5n - RE SEE2HE 10(HE)
#51(9) E3k2(3kg/ )

AR E (531) E3R2(3kg/ )
BRI Bk 1(7kg/8)
BiREE H>K 1505(600g/€2).87K& 220(300g/€J)
G o) K 4(14kg/%9)
8513 (602) E3R2(3kg/ )
BHI155(533) E3k2(3kg/B)

B i I B52H 1(1800g/8)
B (12) 5°#2(3kg/8)
BT (11) E3k2(3kg/ )
B5HE(13) E3k2(3kg/ )

B I 5K 6(10kg/ )
EEZ(456) E3R2(3kg/ )
BER 52T 1(9007A 55/ )
BE1R K 4(131/8)

BB, 882 3()

BELC 3K 7(80). 7008 5(8)
EEM(424) B5£2(3kg/ )
5 B8 10(2)

B=H0 (3K 2(2.5kg/El)
BUE BERBNE B3k 2(3H/8)

EoA B EBk 1(14kg/B)
BE45(505) (5£2(3kg/ )
E=5(606) E3%2(3kg/8)
27 (547) F3%2(3kg/B)
BE(473) F3%2(3kg/B)
FEREE B8t 30(2)




BAVE(516) ER2(3kg/B)
EHE(E76) ER2(3kg/B)

532 11(181) ER6(3kg/E)

#B1515(304) (%4 (3kg/E)

RS 8182 2(7)

BEE 8182 2(%)

s B8 2(2)

4515 B8 10(2)

EEGRER Ek 11(7kg/E)

BAEEARAD B8 15

BEREERNSARAD K 4(15H/E)

5 — 10 Ek 8(2kg/B)

HEE BRI 4(RR) 8782 2(8). ok 4(1.5kg/B)).
Ve %58 1(E).8% 1(2) 55 1(2)
Sitod BRI BES E3K 1(531/8)

2 887 10(126/4)

55 18(439) ER2(3kg/E)

B S (623) ER2(3kg/E)

HHEE K 4(15H/8)

51 iA 81 1(5)

e~ BEE
AN ~ TS

K 2(53/8)

ek R ER 1)
B 53K 1(61/12kg)
BB S 3(131/8)
515 7 1026(kg)
BHEK B8 10(2)
EES 53K 10(7kg/8Y)
B2 (342) 53£2(3kg/8)
B H(507) 53£2(3kg/8)
EHBE(G12) 53£2(3kg/8)
$ER38(509) 53£2(3kg/8)
$EHE(510) 53£2(3kg/8)
TR (532) 53£2(3kg/8)
EX E 1(%)
E£H7(132) 53£2(3kg/8)
HE = L5 5(58). 55 1G8)




FIZEE(622) 55K2(3kg/BY)
BARRZE(621) 55K2(3kg/B))
EREEmMmBRAT gE40 12(#R)
FR=HRA K 4(13H/8)
72131 18(486) 5:£243kg/8)
Z£157=(210) HK2(3kg/ &)
72 7% 5,(209) 53K2(3kg/ )
B335 (208) 53K2(3kg/ )
BHZ(371) 53K2(3kg/ )
725 55(266) 53K2(3kg/ )
ZETIK Bt 40(8)
N (443) 55K2(3kg/BY)
ZERE0(36) E3%2(3kg/B)
B 2(267) E312(3kg/B)
FEREEE 109(4).08F 40(18).
BEEXGEL SEEME 100(1&)
&5 15TR Bt 20(&)
&% 1 [Bl(409) H>K2(3kg/El)
g5 =12 (354) H>K2(3kg/El)
BES 1(F8). 8% 4 1(F8). 8% 1R 1(:8).
MER ML 8(8)
Ex AR5 (356) H>K2(3kg/El)
BREE B SETEIETE 125(75ml /3R)
EXIHEE(502) H>K2(3kg/El)
G B3R 18(7kg/8)
#3270 Bitez 2(%8)
ERZ=32(493) H>K2(3kg/El)
EXEEIE(22) H>K6(3kg/El)
B EEAMm 1(F)
72 B (557) H>K2(3kg/El)
EIEE FTPABES 1(48)
EZ 7 == 2N
tg;;;YLE&iIT’Eé PR E3% A3k 6(3kg/E) BHE 2(6)
BEEEBERAT Em 1(%)
BXR RKTE 10(t#)
BEEI1=ET EBm 1(%)




BIRER

AEGIEE 165(). ¥ MDHA 17030 A /).
=4% 28(R). MBINER 21(H).
EHUNER 10(7h).%=1E i 10(H).

DHA#p 9(ih). BIR§5 8 1(7R).

Em= Rt 1) =B &85 7(H)




